Animal Behavior Biology 1030   Study Review
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
Which statement is false?

	a.
	Behavior is controlled by the environmental stimuli an organism receives.

	b.
	Behavior is partially genetic so that it undergoes natural selection and evolution.

	c.
	Behavior refers only to responses to external stimuli.

	d.
	Behavior sometimes is nonadaptive.

	e.
	Behavior patterns can be learned.


____
2.
The pineal gland responds to

	a.
	light intensity.

	b.
	light duration or photoperiod.

	c.
	flashes of light.

	d.
	red light.

	e.
	different colors of light.


____
3.
Melatonin specifically controls or interacts to control

	a.
	the growth of the gonads of birds.

	b.
	migration.

	c.
	sexual behavior patterns.

	d.
	singing and territorial behavior.

	e.
	all of these


____
4.
Which hormone activates the song system when a bird sings?

	a.
	melatonin

	b.
	testosterone

	c.
	thyroxin.

	d.
	calcitonin

	e.
	epinephrine


____
5.
Each statement concerning behavior is true EXCEPT

	a.
	the knee-jerk reflex is a behavior.

	b.
	a behavior such as a complex courtship ritual is encoded by a single gene.

	c.
	behaviors are products of natural selection.

	d.
	behaviors are adaptive.


____
6.
Behavior is the result of

	a.
	neural networks.

	b.
	hormonal interactions.

	c.
	genetic predisposition.

	d.
	environmental cues.

	e.
	all of these


____
7.
Bird song

	a.
	has to be heard before a bird can sing it.

	b.
	is learned during early life.

	c.
	is specific for each bird species.

	d.
	has a genetic component.

	e.
	all of these


____
8.
The cells surrounding milk-producing cells in the female mammary gland contract shortly after the female hears the cry of an infant. This is an example of

	a.
	a response that is not a behavior.

	b.
	instinctive behavior.

	c.
	imprinting behavior.

	d.
	learned behavior.


____
9.
Instinctive behavior is

	a.
	stereotyped.

	b.
	unlearned.

	c.
	induced each and every time the stimulus is presented.

	d.
	triggered by limited sets of clues.

	e.
	all of these


____
10.
To get a young baby to smile, simply present a

	a.
	parent's smiling face.

	b.
	parent's nonsmiling face.

	c.
	person's face or a mask.

	d.
	picture of a face.

	e.
	representation of a face, so long as it has two recognizable eyes.


____
11.
Learned behavior is recognizable by the __________ the animal makes in its responses.

	a.
	fixed patterns

	b.
	changes

	c.
	stereotyping

	d.
	repetitions

	e.
	false starts


____
12.
Konrad Lorenz is noted for his studies on

	a.
	prenatal marking.

	b.
	mating behavior.

	c.
	imprinting.

	d.
	habituation.

	e.
	insight learning.


____
13.
Newly hatched baby geese follow any large moving objects to which they are exposed shortly after hatching. This is an example of

	a.
	homing behavior.

	b.
	imprinting.

	c.
	piloting.

	d.
	migration.

	e.
	none of these


____
14.
Recent studies in humans have shown there is a close relationship between poor nutrition and poor learning ability. These studies suggest that

	a.
	there is only a minor genetic component to learned behavior.

	b.
	behavior is modified by the environment.

	c.
	learning is adaptive.

	d.
	learning is instinctive.


____
15.
Learning by use of landmarks is

	a.
	spatial

	b.
	insight

	c.
	operant

	d.
	habituation

	e.
	imprinting


____
16.
In classical conditioning,

	a.
	two different stimuli elicit the same response.

	b.
	two different stimuli elicit two different responses.

	c.
	one stimulus elicits one response.

	d.
	one stimulus elicits two different responses.


____
17.
A child grabs a dog's ear, and the dog responds by biting the child. Both behaviors are repeated once again the next day, and again a day later. The child never grabs a dog's ear again. This sequence of events is an example of

	a.
	insight learning.

	b.
	latent learning.

	c.
	operant conditioning.

	d.
	imprinting.


____
18.
The ability of a rat to solve a maze to obtain a reward is increased if it has the chance to explore the maze before the test begins. This is an example of

	a.
	insight learning.

	b.
	latent learning.

	c.
	associative learning.

	d.
	conditioning.

	e.
	extinction.


____
19.
Horticulturists use periodic discharges of loud sounds to scare birds away from their fruit trees. After several days birds can be seen ignoring the sounds due to

	a.
	habituation.

	b.
	imprinting.

	c.
	conditioning.

	d.
	insight learning.

	e.
	instinct.


____
20.
Humans, and other primates to some extent, differ from other animals in their ability to learn by

	a.
	conditioning.

	b.
	imprinting.

	c.
	habituation.

	d.
	insight.

	e.
	latent learning.


____
21.
The example used to demonstrate that Darwinian natural selection explains some behavioral traits better than group selection does is

	a.
	the dilution effect in wildebeest and zebra populations.

	b.
	siblicide among egrets.

	c.
	courtship behavior in albatrosses.

	d.
	the dispersal of Norwegian lemmings when population densities became extremely high.

	e.
	all of these


____
22.
During aggressive encounters between members of the same species,

	a.
	the strong members are always victorious.

	b.
	the invader into a territory is able to replace the current resident of the territory unless he has already mated.

	c.
	opponents usually settle the dispute without bloodshed.

	d.
	a fight to the death occurs, with the one higher in the pecking order being successful more often.


____
23.
In the termite colony, the soldier termites defend the colony by

	a.
	stinging the invaders.

	b.
	removing the legs of the invaders.

	c.
	blinding the invaders.

	d.
	covering the invaders with a sticky substance.

	e.
	decapitating the invaders after an exhausting combat.


____
24.
Pheromones are

	a.
	used in nonverbal communication.

	b.
	found only in the invertebrates.

	c.
	signals to members of other species.

	d.
	types of internal hormones that control maturation.


____
25.
Pheromones are advantageous because

	a.
	they work in the dark.

	b.
	they are often unique to individual species.

	c.
	only small amounts are needed.

	d.
	they do not trigger a response in other species.

	e.
	all of these


____
26.
Communication by means of visual signals has a minimum requirement of

	a.
	daylight.

	b.
	short distance.

	c.
	a clear line of sight.

	d.
	keen eyesight.

	e.
	sharp hearing.


____
27.
The communication signal requiring the most minimal distance between the sender and receiver animals is

	a.
	visual.

	b.
	chemical.

	c.
	acoustical.

	d.
	tactile.


____
28.
Social behavior among insects depends on

	a.
	genetic similarity.

	b.
	bonding early in youth.

	c.
	communication.

	d.
	diversity.

	e.
	polymorphism.


____
29.
The initial alarm signal given by workers to indicate that the termite nest has been broken is

	a.
	odor.

	b.
	taste.

	c.
	sound.

	d.
	a set of vibrations.

	e.
	contact between antennae.


____
30.
Which scientist won the Nobel Prize for his research on the behavior of bees and the discovery of the way bees communicated the location of a food source?

	a.
	Karl von Frisch

	b.
	Nicholas Tinbergen

	c.
	Konrad Lorenz

	d.
	Skinner

	e.
	Pavlov


____
31.
Bees learn the direction to a distant source of food by

	a.
	following the foraging scout.

	b.
	following a trail pheromone.

	c.
	observing the tail-wagging dance.

	d.
	observing the round dance.

	e.
	all of these


____
32.
Bees use which information for locating food and the hive?

	a.
	local topographic features

	b.
	wind direction

	c.
	magnetism

	d.
	the angle of the sun

	e.
	distance between plants


____
33.
In many bird and mammal species, males compete for females, but females do NOT compete for males because

	a.
	males are larger than females.

	b.
	females are larger than males.

	c.
	females produce fewer gametes than males do.

	d.
	females compete for territory.


____
34.
Which of the following statements is false?

	a.
	Territorial pairs of ravens feed silently.

	b.
	Single nonterritorial ravens proclaim the discovery of a food source.

	c.
	Sexual selection through competition for mates leads to evolutionary change.

	d.
	Reproductive success is based upon the same criteria for both sexes.

	e.
	Males that do not have territorial or sexual status sometimes employ strategies that allow them to mate.


____
35.
During aggressive encounters between members of the same species,

	a.
	the strong members are always victorious.

	b.
	the invader into a territory is able to replace the current resident of the territory unless he has already mated.

	c.
	opponents usually settle the dispute without bloodshed.

	d.
	a fight to the death occurs, with the one higher in the pecking order being successful more often.


____
36.
When researchers attempt to answer the question of why various animals exist in such a diversity of social units from solitary to complex societies, they use

	a.
	genetic analysis.

	b.
	habitat data.

	c.
	cost-benefit analysis.

	d.
	environmental studies.

	e.
	time-density data.


____
37.
The presence of the strongest competitors in the center of a group of animals may qualify the group for status as a(n)

	a.
	altruistic society.

	b.
	selfish herd.

	c.
	kin group.

	d.
	dominance hierarchy.


____
38.
Which statement concerning subordinate behavior as exemplified by interactions among members of wolf packs is true?

	a.
	It is gradually being removed by natural selection.

	b.
	It is adaptive.

	c.
	It is self-sacrificing.

	d.
	It is inexplicable in terms of reproductive success.


____
39.
A submissive animal that exposes its throat or genitals to a dominant member of the same group is said to be engaging in what type of behavior?

	a.
	appeasement

	b.
	avoidance

	c.
	ritualized

	d.
	dispersive

	e.
	all of these


____
40.
The example used to demonstrate that competitive interactions lead to the formation of dominance hierarchies involved

	a.
	albatrosses.

	b.
	a honeybee colony.

	c.
	baboon troops.

	d.
	greylag geese.

	e.
	all of these


____
41.
All but which of the following are disadvantages to sociality?

	a.
	predator avoidance

	b.
	cannibalism

	c.
	food depletion

	d.
	contagious diseases

	e.
	parasite infestation


____
42.
Altruistic behavior is

	a.
	selfish.

	b.
	sexually directed behavior.

	c.
	self-sacrificing behavior.

	d.
	aggressive behavior.

	e.
	nonreactive, such as freezing at the sign of danger.


____
43.
In highly integrated insect societies

	a.
	natural selection favors individual behaviors that lead to greater diversity among members of the society.

	b.
	there is scarcely any division of labor.

	c.
	cooperative behavior predominates.

	d.
	patterns of behavior are flexible, and learned behavior predominates.


____
44.
A female insect can often be distinguished from the male by her

	a.
	wing patterns.

	b.
	mating calls.

	c.
	larger size.

	d.
	bigger antennae.

	e.
	longer feet.


____
45.
Altruism in animals other than humans is

	a.
	probably a perception by human observers.

	b.
	gene-based.

	c.
	a conscious effort to preserve the species.

	d.
	just lucky behavior.


____
46.
Only in judging human behaviors does the concept of "__________" supplant "adaptation."

	a.
	self-sacrifice.

	b.
	altruism

	c.
	judgment

	d.
	morality


Matching
Choose the one most appropriate answer for each. Some letters may not be used.

	a.
	communal display ground

	b.
	imprintings in baby geese

	c.
	capacity of an animal to complete complex, stereotyped responses to first-time encounters to key stimuli

	d.
	problem solving without trial and error

	e.
	an adaptive change in behavior

	f.
	occurs during a sensitive period in which a following response or social attachment becomes fixed on a particular moving object

	g.
	self-sacrificing behavior


____
47.
altruism
____
48.
insight
____
49.
instinctive behavior
____
50.
imprinting
____
51.
learning
____
52.
Lorenz
____
53.
lek

